NI Losungsvorschlag BE

a’ +b’ N a(a+b) N b(a —b) _a2+b2+a2+ab+ab—b2_
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3(x% + 2x+1) —2( x*—9) = 15x* —36x — 35; 3x* + 6x +3 — 2x* + 18 = 15x* - 36x — 35

x2 + 6x + 21 = 15x* — 36x — 35; 14x* - 42x-56=0 < x*-3x-4=0
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3.1 3

11—-18
+6
Qeg=-058+t=11=>t=15; g:y =—0,5x+15

gy=mx+t; m = =—0,5= g:y=—-0,5x+t

3.2 R € g A x, =4y, 4
= y=—0,54y+15=3y=15=y=5=x=20; R(20]|5)

3.3 | Sei u das Ursprungslot auf g mitu : y = 2x 5
gNu: —0,5x+15=2x=2,5x=15=x, =6

u(6) =12 = A(6]12)

4.1 3
AA:%ah=a2:>h:2a; d=2a+a+2a=>35a

42 | A=5-(4cm)’ =80cm’ 2
3230
Bewertung:
Punkte 30-26 25-22 21-17 16 —13 12-7 6-0

Note 1 2 3 4 5 6




